
C
re

at
ed

 b
y:

 w
w

w
.c

ia
nd

iss
en

y.
co

m

   DESCRIPCIÓN DESCRIPTION BEZEICHNUNGID. QTY.

MOTOPLASTIC, S.A.  
Molí de la sal, 1  -  08403 Granollers (Barcelona) SPAIN  
Tel. 34 93 849 06 33  -  Fax 34 93 849 09 88
info@puig.tv     - info@puigusa.com
www.puig.tv    - www.puigusa.com

INSTRUCCIONES DE MONTAGE – MOUNTING INSTRUCTIONS – MONTAGEANLEITUNG

Protector motor derecho

Protector motor izquierdo

Tornillo Allen M10/125X40 DIN912

Varilla M10/175 long. 352

Tuerca M10 DIN6923

Tornillo Allen M10/125X80 DIN912 Izq.

Arandela plana M10 DIN125/A

Tornillo Allen M10/125X110  DIN912 Der.

Casquillo aluminio long. 57 Der.

Casquillo aluminio long. 37  Der.

Casquillo aluminio long. 10 Izq.

Protector right hand side

Protector left hand side

M10/125X40 DIN912 screw 

M10/175 Rod length 352

M10 DIN6923 nut

M10/125X80 DIN912 screw Left 

M10 DIN125/A fl at washer

M10/125X110  DIN912 screw Right

Spile length 57 Right

Spile length 37  Right

Spile length 10 Left

Sturzbügel linke seite

Sturzbügel rechte seite

M10/125X40 DIN912 schrauben 

M10/175 Stablänge 352

M10 DIN6923 mutter

M10/125X80 DIN912 schrauben Rechte 

M10 DIN125/A unterlegscheibe

M10/125X110 DIN912 schrauben Linke

Buschse länge 57 Linke

Buschse länge 37  Linke

Buschse länge 10 Rechte

1

1

4

1

2

1

8

1

1

1

1

1

2

3

4

5

6

7

8

9

10

11

1 2 3

Ref.: 6801N
DEFENSAS PARA / ENGINE GUARDS FOR / STURZBÜGEL FÜR

KAWASAKI VERSYS 1000  ‘12-‘14

7

2

5

3

7

3
7

7

3

7

78

7

9
5

4
7

11
10

7

6

3
1

9
4

753

3
7

2
2

2

11 7 6

PARA EL MONTAJE DE LOS PROTECTORES, SI USTED NO ES UN MECÁNICO, POR FAVOR CONTACTE CON UN TALLER ESPECIALIZADO. MOTOPLASTIC DECLINA TODA RESPONSABILIDAD POR LOS DAÑOS CAUSADOS POR UN INCORRECTO MONTAJE DEL PRODUCTO. EL MONTAJE DE LOS PROTECTORES DE MOTOR NO GARANTIZAN UNA PROTECCIÓN INTEGRAL EN CASO DE CAÍDAS. DESPUÉS DE UNA CAÍDA, EVALUAR LOS DESPERFECTOS SUFRIDOS POR LA DEFENSA.
EN CASO DE DUDA CAMBIAR EL LATERAL DAÑADO. MOTOPLASTIC-PUIG DECLINA TODA RESPONSABILIDAD EN CASO DE DETERIODO DE LA MOTOCICLETA.
FOR TO ASSEMBLE THE CRASH PADS, IF YOU ARE NOT A TRAINED MECHANIC, PLEASE CONTACT A SPECIALIST. MOTOPLASTIC, S.A. TAKES NO RESPONSIBILITY FOR DAMAGES CAUSED BY IMPROPER INSTALLATION. THE USE OF CRASH PADS DO NOT GUARANTEE A FULL PROTECTION IN CASE OF ACCIDENT. AFTER A FALL, EVALUATE THE DAMAGE TAKEN ON THE CRASH BARS. IN CASE OF DOUBT CHANGE THE DAMAGED SIDE.
MOTOPLASTIC-PUIG DECLINE ANY RESPONSIBILITY IN CASE OF MOTORCYCLE DAMAGE.
WENN SIE KEIN AUSGEBILDETER MECHANIKER SIND, WENDEN SIE SICH BITTE AN IHRE FACHWERKSTATT. MOTOPLASTIC,S.A. ÜBERNIMMT KEINE HAFTUNG FÜR SCHÄDEN, DIE DURCH EINE UNSACHGEMÄSSE MONTAGE DES STURZBÜGELS VERURSACHT WERDEN. HINWEIS: DIE BENUTZUNG VON STURZBÜGELS GARANTIERT KEINEN VOLLSTÄNDIGEN SCHUTZ BEI EVENTUELLEN UNFÄLLEN. NACH DER STURZ, PRÜFEN SIE DIE SCHADEN DES STURZBÜGEL.IM
ZWEIFELSFALL TAUSCHEN SIE DIE BESCHÄDIGTE SEITE DES STURZBÜGEL. 


